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Scientific Notation/Measurements

1) Write the following in decimal notation.
533 o‘g_%_ s
a) 5.638 X 10° ="¢ARc0 000

L0 LAY
©) 6.24 x1073= ©,00(-2

0:C0ASR0.COCROL
b) 0.00258 x 10'2 = ;-
0002315619
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2) Simplify. Write each answer in scientific notation. Round to three decimal places if
needed.

a) (8.9 x 103)(6.852}( 10™1)
CO,AE5 X 10

N .
lo«.CAEH X 10

by {2.57 % 10°3)(4.35 ¥ 1079
LL, I'q'CI'C’) X ‘Oﬂ +
= a.}—

AT E v D
i+ TS A

¢) (3.56 x1071%)(2 x 1078)

d) (13.2 x 105)(8.5 x 10%)

Fiz X 107 12,2 x Telate
1:122 X '|(_‘:=H
(484 x10°) _ (686 x107) _ ‘ ]
&) @Z2x105) = /X X !Oq f) B 2,181 X 10
a9
2. i18Xx10
(2850107} o aniva ioms gt (77 x1078) _ —
g e = BSDHTLIARE XI5 ) ot - 5.5% 10

5.90% X 0




3)

4)

Convert the following.
a)
3km = 300 OO cm
b) :
5.258m = __ 0. 0OBA5A hm
c)
45685cm? = H56, 85 dm?
d)
345 500 000mm?2 = 5.5 m?
e) ;
400 000dam? = HOo hm3
f) .
0.123dam?® = 0.000 AR hm?
g)
125 000cm?3 = ab E
h)
99c¢L, = Qa0 000 mm?3

Determine the length of the missing side. Images are not drawn to scale.

a) .
& + b =c”
7 - ey = (4 ‘3)2
£ -6‘%7 % ‘r(q) H.
& x* + 49 = 219.04
xcm ‘)C = z2i9.04 - L‘*Ci
¥ = 1710.04

x = \13p.04

Answer: = A.04
o bz o2
i+ 16 ’)c.
A5 + S5k = Dé
DL ™ 96
xcm \[51‘3': Y%

X222, 21T

Answer: _ ¥ =22 .63




5) Determine if the following statements are true or false. The entire word must be written.

a. Z N
FAlLSE

b.

~ 15 €%
FALSE

6) TRUE or FALSE. All of the following are irrational numbers.v/36, Y625, Y72

Answer:  FALSE

7) Complete the following chart.

Inequality

Number line

Bracket Notation

L RS2 ! >

2 2L

8) Write the following as a power of 10.

9

a) 1000 000 000 =

A
0 b) 0.000 000 000 001 = 1)

9) State if the following polynomial expressions are monomials, binomials or trinomials.

4x*y® + 6x%y 3 +8

10) Write the following in exponential form and in standard form.

[
V6—= !;“\Li' z - H

Answer: Tginomial

11) Simplify the following expressions so they only have positive exponents.

) (BxyNTE = 5Ty ey

b) 448x'y”% _ _&a"jwciq IA"%

2x~5




12) Determine the degree of the following polynomial expressions.

(2x3)7+5x +x7°
" x + bx %
lZKaé—"y +584 51~

Answer: degree = ] |

=9

13) Solve for the unknown variables (no decimals).

b) 3(—14x%) +80 = —70 — 15x2

a) 4(—3x)—2=5(—8x)— 112
~12% -2 = ~40x W12 —Yzx* + B0 = —FO DX
— - W = — ¥ 2.
12 THOx e __,L{QXJ'J\-\SXL: -30 - 80
2= Nk -23x"= 150
e 75
% 25 == at
1; hosd HO ) o
23 v 50
X = 23_‘—5
1 (x*= [22
¥
Y= \}50
-3 &= il
Answer: X 4 Answer: X= 3

14) Simplify the following algebraic expressions. If the equation is already in simplified form

rewrite the statement in the space provided.

1 2% + bxX —a4y — 12
)2~ = 18% -2

4> + 26t~y

R

c) (5x® —x) — (4x? —x+2)
S~ P 9 2
> -ty -2

b) (—4x3 + 2x* — x) + 4x

4y Yx dy

d) | Gxf eyl 72| 123C y)t-4
—F £S5k +5y + Y




15) The perimeter of the rectangle is 52cm. The algebraic expression for the length is 5a-1.
The algebraic expression for the width is 3a+4. What is the value of the length and width

of the rectangle?

) 5a-1
Pecimeter = Q’Z(Len\c)*h\ fz(m:dﬂnx
52 = a (Sa-1)+2(3art) _
52 = 0a-2 +6at+g
b = b+ b
5/(” # 1ea 5(2.835) 1 = 2(2.895)+
e e 14,335 ) = §.6a54Y4

17) Consider the polynomials:
A= x*-3x+11
B=x*+1
C=—4x+1
Find.

4(A+C) - 2(B)

= 4|(x* +?>x+n)+(-qxﬂj ’b(x H)
= 4 x 20kl =Byl |~ 2% <2
A imsﬂ — ¥~ 2,

- (e a3lCadia)

= Q" -~y +H36

| Answer:




